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M7 ars nl (MS X)

20 CLEAR 200, &HBFFF

30 GOSUB 10000 ' initialize

40 GOSUB 1000 ° alignment

100 ° for example procsee

110 ° chanel? check

120 N2=&B00000100

130 CLS:LOCATE 0, 10:PRINT "CHANEL 2 -> ~;

140 S=USRO(1)

150 LOCATE 12, 10

160 IF (S AND N2)=N2 THEN PRINT "ON !!" ELSE PRINT "OFF

170 GOTO 140

900 END

1000 ° senser alignment

1010 CLS:LOCATE 0,8:PRINT “JOYSTICK 1 2

1020 LOCATE 6, L8:PRINT “(if set all right™:

1030 LOCATE 10, 19:PRINT "--> push any key) :

1040 D1=USRO(1):D2=USR0(2)

1050 LOCATE 5,10

1060 PRINT USING "& & & & :RIGHTS(BINS(D1+256).6),
RIGHTS(BINS(D2+256).6)

1070 [F INKEYS="" GOTO 1040

1080 RETURN

10000 ° senser function set

10010 DEF USRO=&HC000:H=&HC000

10020 RESTORE 10050

10030 READ AS:IF AS="end”™ THEN RETURN

10040 POKE H, VAL ("&h™+AS) :H=H+1:GOTO 10030

10050 DATA FE, 02, C0, D5, 3E, OF, CD, 96, 00, E6, 80

10060 DATA 5F, 23, 23, 7E, FE, 01, 20, 0§, 7B, F6, 10

10070 DATA 20,03, 7B, F6, 60, SF, 16, FF, 3E, OF, CD

10080 DATA 93,00, 3E, OE, CD, 96,00, E6, 3F, BA, 28

10090 DATA 03,57, 18, EE, 77, 2B, 2B, 3E, 02, D1, C9, end

WHTasrs s2
100 OUT &H33, &H82 tee. HB2 DIFE A—HA. B—AS. C—HA
200 GOSUB 1000
300! " ==~—- your any program ----
310 DT=&HAA " for example
320 OUT &H30,DT " for example out to A port
900 END
1000 ° senser alignment
1010 CLS:LOCATE 0, 8:PRINT "MY-SENSER PORT B”
1020 LOCATE 6, 18:PRINT "(if set all right”;
1030 LOCATE 10, 19:PRINT "--> push any key)":
1040 DI=INP(&H31) " input from B port
1050 LOCATE 5, LO:PRINT USING "& & ;RIGHTS(BINS(D1+256), 6);
1060 [F INKEYS="" GOTO 1040
1070 RETURN
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